
https://www.passapply.com/jn0-251.html
2024 Latest passapply JN0-251 PDF and VCE dumps Download

 

 

 

JN0-251Q&As

Mist AI - Associate (JNCIA-MistAI)

Pass Juniper JN0-251 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/jn0-251.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Juniper
Official Exam Center

 

 

Latest JN0-251 Dumps | JN0-251 Study Guide | JN0-251 Exam Questions                                1 / 3

https://www.passapply.com/jn0-251.html
https://www.passapply.com/jn0-251.html
https://www.passapply.com/jn0-251.html


https://www.passapply.com/jn0-251.html
2024 Latest passapply JN0-251 PDF and VCE dumps Download

QUESTION 1

You are troubleshooting a signal strength issue when you notice that the signal strength changes from-70 to-73 dBm as
you move from one room to another. In this scenario, what is happening? 

A. Signal strength has increased by 10x. 

B. Signal strength has decreased by 10x. 

C. Signal strength has doubled. 

D. Signal strength has halved. 

Correct Answer: D 

 

 

QUESTION 2

Which statement is correct about Bluetooth and BLE? 

A. BLE is an upgrade to Bluetooth. 

B. Bluetooth and BLE use the same radio channels. 

C. Bluetooth and BLE are compatible. 

D. BLE is a newer technology than Bluetooth. 

Correct Answer: D 

Reference: https://www.link-labs.com/blog/bluetooth-vs-bluetooth-low-energy 

 

QUESTION 3

vBLE engagement works on transmit mode and has 1 m to 3 m accuracy using which feature? 

A. Wi-Fi IoT sensors 

B. a BLE radio 

C. Wi-Fi enabled devices 

D. the Mist location SDK 

Correct Answer: B 

Reference: https://www.juniper.net/us/en/products/cloud-services/user-engagement.html 
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QUESTION 4

Which machine learning method involves rewarding and punishing an agent? 

A. unsupervised learning 

B. supervised learning 

C. deep learning 

D. reinforcement learning 

Correct Answer: D 

 

QUESTION 5

You are inviting a new administrator into a Mist organization. In this scenario, which two roles are valid? (Choose two.) 

A. Helpdesk 

B. Standard 

C. Network Admin 

D. System Admin 

Correct Answer: CD 

Reference: https://www.mist.com/documentation/administrator-roles/ 
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